





Order Entry

5 AM - 3 PM Mon - Fri 515.281.7422 Toll Free: 866.IowaABD (866.469.2223)



Will-Call

Will-Call Order: 7 AM - 1 PM Mon - Thurs Warehouse Pickup: 9 AM - 3:30 PM Mon - Thurs



Fax Orders

Products Fax: 515.281.7385 Toll Free Fax: 877.891.5348





Scan the icon with your mobile phone to download IABD Pricing, Promotions & TPR.

Get the free mobile app at http://gettag.mobi

Customer Web Portal

The Division is making ordering easy with the launch of our Customer Web Portal (shop.iowaabd.com). By cutting time and paperwork, we believe this will make the entire ordering process effective and efficient. Set your account up by going to the create an account page. Get started today!



Just a Reminder...

Return of Product

The Division would like to remind retailers that the decision to allow a return rests solely with the Division. All returns shall be pre-authorized electronically.

Below are a few examples of merchandise returns for ordinary and usual commercial reasons which would be allowed by the Division, but are not limited to:

- Misorder/Incorrect Order
- Defective Product
- Damaged Product
- Driver Breakage

Please do not hesitate to reach out to Tim Iversen at Iversen@IowaABD.com or 515.281.7406 with any questions regarding the return of product.

New Codes

CODE	DESCRIPTION		PACK
571	Jack Daniel's Music Carton w/2 Glasses	0.750	6
10880	(TEMP) Forty Creek Copper Pot		12
16196			12
19880			6
26916	Michter's US 1 Small Batch		6
26996			12
27063	Iowa Legendary Rye Unaged		6
27246	Michter's US 1 Single Barrel Rye Artisan Grain Original Moonshine		6
27240	Iowish Whiskey (TEMP)	0.750	6
27692	Bird Dog Apple Mini (TEMP)	0.730	5
27697		0.750	6
33539	G 11		12
33540	Pinnacle Mimosa Mini (TEMP) Pinnacle Mimosa (TEMP)	0.500	12
33559	Pinnacle Habanero	0.750	12
34183	Boru Irish Vodka (TEMP)	1.750	6
40059	1	0.600	10
40039	1 7		
40000	Skyy Infusions Texas Grapefruit Skyy Infusions Pacific Blueberry Mini	0.750	12
40063	(TEMP)	0.600	
40064	Skyy Infusions Pacific Blueberry	0.750	12
40295	New Amsterdam Citron		24
40299			6
43299			12
43307	7 Captain Morgan Coconut		6
43314	Captain Morgan Grapefruit		12
43320	52 Captain Morgan Pineapple		6
43352			12
43359			6
48122	22 Hennessy XO		12
69713	13 Dr. McGillicuddy's Peach Mini (TEMP)		12
69715			12
76047	7 Midnight Moon Raspberry		6
80143	3 Forbidden Secret Mocha Cream		6
80437	37 Ricura Mini (TEMP)		6
87266	Casa Noble Crystal		6
87270			6
87448	DeLeon Platinum	0.750	6
89322	DeLeon Reposado	0.750	6

Discontinued Codes

	CODE	DESCRIPTION	SIZE
ĺ	33802	Kuhl Hippie Hooch Love Punch	0.750
	42936	10 Cane Rum	0.750

Pack Changes

OLD CODE	NEW CODE	DESCRIPTION	SIZE	OLD PACK	NEW PACK
31207	31167	McCormick Gin	1.000	12	12
40965	77858	Smirnoff Whipped Cream	0.750	12	12
62382	62387	Malibu Rum Punch	1.750	6	6
64446	64435	Berentzen Apple Liqueur	0.750	12	6

March Promotions

} Cedar Ridge Distillery

1441 Marak Road Swisher, IA 52338 Phone: 319-857-4300 Fax: 319-857-4301

Please send invoices to Murphy Quint at Cedar Ridge. All purchases for each deal must be on one invoice. Deals valid for

March 2015.

Cedar Ridge Dark Spirits: Mix & Match, 750ml, 6pk, Iowa Bourbon (17206), Dark Rum (46112), Apple Brandy (53629) & Grape Brandy (52216)

Purchase 5 cases, receive a \$50 promo check.

Purchase 10 cases, receive a \$150 promo check. Purchase 20 cases, receive a \$350 promo check.

Clearheart Spirits: Mix & Match, 750ml, 6pk, Clearheart

Vodka (35586), Clearheart Gin (29812) & Clearheart Rum (46113)

Purchase 5 cases, receive a \$50 promo check. Purchase 10 cases, receive a \$150 promo check.

Purchase 20 cases, receive a \$350 promo check.

Named-After Series: Mix & Match, 750ml, 6pk, Short's

Whiskey (27632) & Howdy's Apple Pie (74772)

Purchase 5 cases, receive a \$50 promo check.

Purchase 10 cases, receive a \$150 promo check.

Purchase 20 cases, receive a \$350 promo check.

Special Edition Series: 375ml, 6pk, Reserve Bourbon 5YR (27386)

Purchase 5 cases, receive a \$100 promo check.

Limit 1 deal per month

Glazer's of Iowa

4377 NW 112th Street Urbandale, IA 50322 Phone: 515.252.7173 Fax: 515.252.8681

All purchases must be on one IABD invoice dated March 2015. Invoice must be submitted within 30 days of invoice date to qualify for funds. In the event of out of stocks, all related invoices showing total case buy(s) must be submitted together. Please present a copy of the invoice to your Glazer's Representative or submit a fax to 515-252-8681.

Blackheart Premium Rum 750ml (44258):

Purchase 1 case, receive a \$15 promo check.

Christian Brothers: Honey 750ml (72722), Peach 750ml (56006) & Peach 375ml (56005)

Purchase 2 cases, receive a \$25 promo check.

Christian Brothers: 750ml (52316), 750ml PET (52146), VSOP 750ml (52186), Honey 750ml (72722), Peach 750ml (56006) &

Peach 375ml (56005)

Purchase 5 cases, receive a \$25 promo check. Purchase 10 cases, receive a \$75 promo check. **Cinerator:** 750ml (27454)

Purchase 1 case, receive a \$15 promo check.

Purchase 3 cases, receive a \$75 promo check.

Tippy Cow: Mix & Match, 750ml only, Chocolate 750ml (80485), Orange Cream 750ml (80486), Vanilla 750ml (80487) &

Shamrock Mint 750ml (80488)

Purchase 4 cases, receive a \$18 promo check.

Purchase 8 cases, receive a \$72 promo check.

Absente 750ml (64000):

Purchase 1 case, receive a \$25 promo check.

Purchase 2 cases, receive a \$60 promo check.

Licor 43 750ml (65426):

Purchase 1 case, receive a \$25 promo check.

Tito's Vodka 1L (38177):

Purchase 25 cases, receive a \$350 promo check.

360 Vodka: Mix & Match, Georgia Peach 750ml (41943),

Double Chocolate 750ml (41019) & 360 Vodka 750ml (38169)

Purchase 10 or more cases, receive a \$15 per case promo check.

Triple Crown 750ml (25966):

Purchase 2 cases, receive a \$20 promo check.

Purchase 3 cases, receive a \$100 promo check.

McCormick: Mix & Match, Canadian Woods 1.75L (12668),

McCormick Vodka 1.75L (36908), McCormick Blended Whiskey

1.75L (24728) & McCormick Gin 1.75L (31208)

Purchase 5 cases, receive a \$15 promo check.

Purchase 10 cases, receive a \$40 promo check.

Purchase 25 cases, receive a \$150 promo check.

OR-G 750ml (66107) & Bastille 750ml (15951):

Purchase 1 case, receive a \$20 promo check.

Purchase 2+ cases, receive a \$30 per case promo check.

Purchase 1 case of each, receive a \$60 promo check.

Irishman Brands: Original Clan 750ml (15617)

Purchase 1 case, receive a \$30 promo check.

Purchase 3+ cases, receive a \$40 per case promo check.

Purchase 5+ cases, receive a \$50 per case promo check.

Patron: Mix & Match, Silver 750ml (88296), Silver 200ml

(88290), Silver 375ml (88294), Silver 1.75L (88298), Silver Mini 300ml (88291), Anejo 750ml (89646), Reposado 750ml (89626),

Silver 375ml (88294), Anejo 375ml (89644) & Reposado 375ml (89624)

09024)

Purchase 5 cases, receive a \$75 promo check.

Citronge 750ml (64736):

Purchase 1 case, receive a \$25 promo check.

Patron XO: Mix & Match, XO Café 750ml (67595)

Purchase 1 case, receive a \$50 promo check.

Blue Chair Premium Rum: Mix & Match, White 750ml

(42240), Coconut 750ml (42242), Coconut Spiced 750ml (42244)

& Banana 750ml (42204)

Purchase 1 case, receive a \$15 promo check.

Purchase 5+ cases, receive a \$20 per case promo check.

Whisper Creek 750ml (80498):

Purchase 1 case, receive a \$25 promo check.

JR Ewing: 750ml 6pk (18906)

Purchase 20 cases, receive a \$30 per case promo check.

lowa Distilling Company

4349 Cumming Ave. PO Box 22

Cumming, IA 50061 Phone: 515.238.5705 Fax: 888.838.3912

Please send all invoices to Todd Dunkel at Iowa Distilling Company. All purchases for each deal must be made on one invoice.

Deals valid during March 2015.

Prairie Fire (27629): 750ml, packaged 6 bottles per case Receive a \$15 promo check for every case purchased.

IngeniOz Vodka (36447): 750ml, packaged 12 bottles per case

Purchase 5 cases, receive a \$30 promo check. Purchase 10 cases, receive a \$100 promo check. Purchase 20 cases, receive a \$250 promo check.

Johnson Brothers Wirtz

2515 Dean Ave.

Des Moines, IA 50317 Phone: 515.262.1199 Fax: 515.262.0845

All programs must be on one invoice unless noted, dated in the month of the deal. Invoices must be submitted by the 15th of the following month. In the event of out of stocks, all related invoices, must be submitted together. Please give copies to your JBW Group sales representative or fax invoices to -515-262-0845.

Remy

Remy Martin VSOP 750ml:

Purchase 3 cases, receive a \$30 promo check. Purchase 5 cases, receive a \$60 promo check. Purchase 10 cases, receive a \$200 promo check.

Remy Martin VSOP 200ml & 375ml: Mix & Match

Purchase 2 cases, receive a \$24 promo check. Purchase 10 cases, receive a \$180 promo check.

Remy Martin VSOP 100ml:

Purchase 1 case, receive a \$12 promo check. Purchase 3 cases, receive a \$60 promo check.

Cointreau:

Purchase 2 cases, receive a \$30 promo check. Purchase 4 cases, receive a \$80 promo check. Purchase 10 cases, receive a \$250 promo check.

Mt Gay Rum:

Purchase 1 case Eclipse, receive a \$12 promo check. Purchase 3 cases Eclipse, receive a \$72 promo check.

Purchase 5 cases mix & match (Eclipse, Black Barrel & Extra Old), receive a \$180 promo check.

Mt Gay Black Barrel:

Purchase 1 case, receive a \$75 promo check. Purchase 2 cases or more, receive \$90 per case.

Mt Gay Extra Old:

Purchase 1 case, receive a \$75 promo check. Purchase 2 cases or more, receive \$90 per case. Remy V: Mix & Match, All sizes

Purchase 2 cases, receive a \$24 promo check. Purchase 5 cases, receive a \$75 promo check. Purchase 10 cases, receive a \$180 promo check.

Bols

Bols Liqueurs: Amaretto (72596), Melon (72636), Sour Apple

(82511), Peach (82556) & Blue Curacao (85516)

Purchase 12 bottles (mix of at least 3 types), receive a \$25 promo check.

Purchase 1 case, receive a \$25 promo check.

Gallo

New Amsterdam Vodka, Flavored Vodka & Gin: All sizes, except 50ml

Purchase 5 cases, receive a \$60 promo check. Purchase 15 cases, receive a \$300 promo check.

Purchase 40 cases, receive a \$1200 promo check.

New Amsterdam Gin 50ml (31471):

Purchase 1 case, receive a \$15 promo check. Purchase 3 cases, receive a \$75 promo check. **E&J Gallo Brandy 100ml (52590):**

Purchase 1 case, receive a \$25 promo check.

Camarena Tequila: Mix & Match, Silver & Reposado

Purchase 5 cases, receive a \$100 promo check. Purchase 10 cases, receive a \$300 promo check. Purchase 20 cases, receive a \$800 promo check.

Shellback Silver & Spiced 750ml:

Purchase 2 cases, receive a \$40 promo check. Purchase 4 cases, receive a \$100 promo check. Purchase 8 cases, receive a \$250 promo check.

Hood River

Pendleton 1.75L (14199):

Purchase 3 cases, receive a \$100 promo check. Pendleton 1910 Rye 750ml: 6 pk case Purchase 2 cases, receive a \$40 promo check.

Brokers Gin 750ml:

Purchase 1 case, receive a \$25 promo check.

44 North Huckleberry Vodka (41474):

Purchase 1 case, receive a \$40 promo check.

Bacardi

Bombay Family: Mix & Match, All sizes, Sapphire, Dry & Sapphire East

Purchase 3 cases, receive a \$54 promo check.

\$24 SPA on Sapphire & East 750ml

\$9 SPA on Dry 750ml

St Germain 200ml:

Purchase 1 case, receive a \$24 promo check.

Sidney Frank

Jagermeister 750ml & 1.75L: Including Spice

Purchase 7 cases, receive a \$140 promo check. Purchase 15 cases, receive a \$375 promo check. Purchase 25 cases, receive a \$800 promo check.

Constellation

Casa Noble Tequila: Crystal 750ml (87226) & Reposado 750ml

(87270), 6 pack cases

Purchase 2 bottles each, 4 bottles total, receive a \$50 promo check.

Purchase 1 case, 1 type, receive a \$100 promo check.

Purchase 2 cases, 2 types, receive a \$250 promo check.

Purchase 3 cases, 1 case of each, receive a \$400 promo check.

Sazerac

Barton Vodka 1.75L:

Purchase 50 cases, receive a \$175 promo check.

Purchase 75 cases, receive a \$400 promo check.

Purchase 100 cases, receive a \$830 promo check.

Barton Vodka, Gin, Rum & Barton Long Island Tea: Mix

& Match, All sizes

Purchase 25 cases, receive a \$50 promo check.

Purchase 50 cases, receive a \$150 promo check.

Purchase 75 cases, receive a \$300 promo check.

Nikolai 200ml & 375ml:

Purchase 1 case of each, receive a \$20 promo check.

Purchase 2 cases of each, receive a \$50 promo check.

Fireball Liters & Chila Orchata 750ml:

Purchase 1 case Chila Orchata & 1 case Fireball 1L, receive a \$50 promo check

Purchase 3 cases Chila Orchata & 2 case Fireball 1L, receive a \$150 promo check.

Limit 1 deal per licensee

Tortilla Tequila, Triple Sec & DSS:

Purchase 20 cases of Tortilla mixed, receive a \$120 promo check.

Dr. McGillicuddy: Mix & Match

Purchase 10 cases, receive a \$125 promo check. *Limit 5 liters*.

Purchase 20 cases, receive a \$300 promo check. Limit 10 liters.

Chila Orchata:

Purchase 1 case, receive a \$10 promo check.

Purchase 3 cases, receive a \$60 promo check.

Purchase 5 cases, receive a \$150 promo check.

Fleischmann Vodka & Gin 1.75L:

Purchase 25 cases, receive a \$100 promo check.

Purchase 50 cases, receive a \$300 promo check.

Rich & Rare 1.75L:

Purchase 6 cases, receive a \$48 promo check.

Purchase 12 cases, receive a \$144 promo check.

Purchase 25 cases, receive a \$325 promo check.

Rich & Rare Reserve:

Purchase 3 cases, receive a \$60 promo check.

Purchase 5 cases, receive a \$120 promo check.

Desert Island, Chila Coffee Liqueur, Amaretto E dolce &

Ice Box Mudslide: Mix & Match

Purchase 5 cases, receive a \$50 promo check.

Purchase 10 cases, receive a \$150 promo check.

Firefly Moonshines: Including Caramel (86686) & Cherry

(86680)

Purchase 5 cases, receive a \$40 promo check.

Purchase 10 cases, receive a \$120 promo check.

Purchase 20 cases, receive a \$400 promo check.

99 Schnapps: Including Cinnamon & Peppermint

Purchase 1 case, receive a \$20 promo check.

Purchase 4 cases, receive a \$100 promo check.

Purchase 10 cases, receive a \$300 promo check.

Chi-Chi's Premixed Cocktails:

Purchase 10 cases, receive a \$50 promo check.

Purchase 25 cases, receive a \$200 promo check.

Purchase 50 cases, receive a \$500 promo check.

DiAmore Amaretto & Caravella Limóncello:

Purchase 3 cases (must include 1 of each), receive a \$60 promo check

Monte Alban Mezcal 750ml:

Purchase 1 case, receive a \$12 promo check.

Purchase 3 cases, receive a \$90 promo check.

Northern Light Canadian 1.75L:

Purchase 15 cases, receive a \$60 promo check.

Purchase 25 cases, receive a \$140 promo check.

Ridgemont Reserve Bourbon 750ml:

Purchase 1 case, receive \$25 promo check.

Purchase 3 cases, receive \$100 promo check.

Ten High, Canadian LTD, Fleischmann's Preferred &

Lauders: Mix & Match

Purchase 25 cases, receive a \$100 promo check.

Purchase 50 cases, receive a \$350 promo check.

Dr. McGillicuddy 50ml: Mix & Match

Purchase 1 case, receive a \$10 promo check.

Purchase 3 cases, receive a \$40 promo check.

Purchase 5 cases, receive a \$75 promo check

Legacy Canadian Whiskey: 750ml (13542)

Purchase 1 case, receive a \$20 promo check.

Purchase 5 cases, receive a \$150 promo check.

99 Schnapps 50ml & Barton Vodka 50ml: Mix & Match,

Peppermint (81124), Cinnamon (84143) & Bananas (84172)

Purchase 1 case, receive a \$10 promo check.

Purchase 3 cases, receive a \$40 promo check.

Purchase 5 cases, receive a \$75 promo check.

Firefly & Sweet Carolina Sweet Tea Vodka: Mix & Match

Purchase 3 cases, receive a \$50 promo check.

Purchase 10 cases, receive a \$150 promo check.

Hunter Rye:

Purchase 1 case, receive a \$25 promo check.

Barton Vodka 200ml & 375ml:

Purchase 1 case of each, receive a \$15 promo check.

Purchase 2 cases or each, receive a \$40 promo check.

Firefly Moonshines: Including Blackberry (86685)

Purchase 1 case, receive a \$15 promo check.

Purchase 3 cases, receive a \$75 promo check.

Purchase 10 cases, receive a \$350 promo check

Firefly Moonshine 200ml 4 pk:

Purchase 1 case, receive a \$15 promo check.

Purchase 3 cases, receive a \$75 promo check.

Purchase 10 cases, receive a \$350 promo check

Phillips

<u>Prairie Vodka 750ml (31866), Prairie Cucumber Vodka 750ml (40244) & Prairie Gin 750ml (31866):</u>

Purchase 1 case of any, receive a \$50 promo check.

UV Vodka 1.75L Flavors & 80 proof 1.75L:

Purchase 10 cases, receive a \$75 promo check. Purchase 20 cases, receive a \$250 promo check.

\$3 SPA

Cabrito Tequila Reposado:

Purchase 1 case, receive a \$25 promo check. Purchase 3 cases, receive a \$100 promo check.

Revelstoke Pecan 750ml:

Purchase 1 case, receive a \$25 promo check. Purchase 3 cases, receive a \$150 promo check.

Proximo

1800 Tequila Reposado & Silver: Mix & Match, Reposado 375ml (89204), 1L (89207)& 1.75L (89208) & Silver 375ml (87509), 1L (87511) & 1.75L (87513)

Purchase 1 case, receive a \$30 promo check. Purchase 3 cases, receive a \$120 promo check.

Three Olives Vodka 1.75L:

Purchase 3 cases, receive a \$100 promo check. Purchase 10 cases, receive a \$500 promo check.

Three Olives Vodka & Flavors 750ml:

Purchase 5 cases, receive a \$100 promo check. Purchase 10 cases, receive a \$300 promo check.

Three Olives 50ml: Cherry (33537) & Grape (33538)

Purchase 1 case, receive a \$20 promo check. Purchase 3 cases, receive a \$75 promo check. Purchase 5 cases, receive a \$150 promo check.

Hanger One Vodka: 80 proof (36261), Citron (41506), Lime (41516) & Mandarin (41510)

Purchase 1 case, receive a \$100 promo check.

Kraken 1.75L:

Purchase 1 case, receive a \$25 promo check.

Grants

Sailor Jerry 1.75L:

Purchase 5 cases, receive a \$100 promo check. Purchase 10 cases, receive a \$300 promo check.

Purchase 25 cases, receive a \$900 promo check.

Tullamore Dew 750ml:

Purchase 24 bottles, receive a \$75 promo check. Purchase 60 bottles, receive a \$225 promo check. Purchase 120 bottles, receive a \$600 promo check.

Tullamore Dew 1L:

Purchase 24 bottles, receive a \$125 promo check. Purchase 60 bottles, receive a \$350 promo check. Purchase 120 bottles, receive a \$800 promo check.

Glenfiddich 12YR, 15YR & 18YR:

Purchase 1 case of each, 3 cases total, receive a \$300 promo check. Purchase 5 cases, at least 1 case of each, receive a \$500 promo check.

Balvenie 12YR & 14YR:

Purchase 12 bottles of each, receive a \$200 promo check. Purchase 5 cases, at least 24 bottles of each, receive a \$600 promo check

Hendricks Gin 1L:

Purchase 2 cases, receive a \$30 promo check. Purchase 6 cases, receive a \$100 promo check.

Hendricks Gin 1.75L:

Purchase 1 case, receive a \$35 promo check. Purchase 3 cases, receive a \$120 promo check.

Reyka Vodka 750ml: 6 pk case

Purchase 1 case, receive a \$15 promo check. Purchase 5 cases, receive a \$100 promo check. Purchase 10 cases, receive a \$300 promo check.

Brown Forman

Early Times 750ml & 1.75L:

Purchase 3 cases, receive a \$50 promo check. Purchase 5 cases, receive a \$150 promo check. Limit 2 deals per month

Finlandia:

Purchase 1 case, receive a \$75 promo check.

Limit 2 deals per month

Woodford Reserve 375ml, 750ml, 1.75L: Mix & Match

Purchase 3 cases, receive a \$180 promo check. Purchase 10 cases, receive a \$750 promo check.

Limit 2 deals per month

Chambord:

Purchase 6 bottles, receive a \$30 promo check. Purchase 1 case, receive a \$75 promo check. Purchase 3 cases, receive a \$300 promo check. Limit 2 deals per month

El Jimador Anejo, Blanco & Reposado:

Purchase 3 cases, receive a \$60 promo check. Purchase 5 cases, receive a \$135 promo check. Purchase 10 cases, receive a \$320 promo check. Purchase 20 cases, receive a \$840 promo check. Limit 2 deals per month

Gentleman Jack 750ml & 1.75L:

Purchase 3 cases, receive a \$175 promo check. Purchase 10 cases, receive a \$750 promo check.

Limit 2 deals per month

Woodford Reserve, Gentleman Jack & Jack Daniels Honey 1.75L:

Purchase 3 bottles of each, receive a \$50 promo check. Purchase 1 case of each, receive a \$125 promo check.

Limit 2 deals per month Canadian Mist 1.75L:

Purchase 25 cases, receive a \$250 promo check. Purchase 50 cases, receive a \$750 promo check.

Limit 2 deals per month

Jack Daniels, JD Honey & Southern Comfort 1L:

Purchase 25 cases, receive a \$500 promo check. Purchase 50 cases, receive a \$1250 promo check.

Jack Daniels, JD Honey 750ml & 1.75L: Includes JD Music

Carton w/ 2 glasses (571) 2 cases=1 case

Purchase 7 cases, receive a \$175 promo check.

Purchase 15 cases, receive a \$525 promo check.

Purchase 25 cases, receive a \$1125 promo check.

Purchase 50 cases, receive a \$2750 promo check.

Southern Comfort, Lime, Bold Black Cherry & 100

750ml & 1.75L:

Purchase 5 cases, receive a \$100 promo check.

Purchase 10 cases, receive a \$300 promo check.

Purchase 15 cases, receive a \$600 promo check.

Purchase 25 cases, receive a \$1250 promo check.

Jack Daniels Honey: All sizes, excluding 50ml

Purchase 5 cases, receive a \$250 promo check.

Limit 2 deals per month

Herradura Reposado, Anejo, & Blanco:

Purchase 12 bottles, receive a \$130 promo check. Must include at

least 3 bottles Blanco & Anejo.

Limit 2 deals per month

Woodford Reserve, Gentleman Jack, Jack Daniels

Honey, Southern Comfort Bold Black Cherry 375ml:

Purchase 3 bottles of each, receive a \$18 promo check.

Purchase 6 bottles of each, receive a \$60 promo check.

Purchase 1 case of each, receive a \$288 promo check.

Limit 2 deals per month

Korbel Brandy:

Purchase 5 cases, receive a \$50 promo check.

Purchase 7 cases, receive a \$100 promo check.

Purchase 15 cases, receive a \$250 promo check.

Limit 2 deals per month

Jack Daniels Single Barrel:

Purchase 1 case, receive a \$30 promo check.

Purchase 3 cases, receive a \$120 promo check.

Limit 2 deals per month

Woodford Reserve Double Oaked:

Purchase 1 case, receive a \$60 promo check.

Limit 2 deals per month

Trinchero

Menage a Trois Berry (40105) & Citrus (40107):

Purchase 1 case, receive a \$100 promo check.

Tres Agaves Anejo Tequila (89885) & Reposado

(89889):

Purchase 1 case, receive a \$100 promo check

Tres Agaves Tequila: Mix & Match, Blanco, Reposado & Anejo

Purchase 2 cases, receive a \$100 promo check & 12 pack case of

Tres Agaves Margarita Mix.

Cruz Tequila Silver (87398) & Reposado (89085):

Purchase 1 case, receive a \$120 promo check.

Sugar Island Spiced & Coconut:

Purchase 1 case of either, receive a \$75 promo check.

Western

NEW Bird Dog Apple Flavored Whiskey 750ml (27697):

6 pk case

Purchase 1 case, receive a \$12 promo check.

Purchase 2 cases, receive a \$35 promo check.

Purchase 4 cases, receive a \$100 promo check.

Bird Dog Bourbon 750ml (16825): 6 pk case

Purchase 1 case, receive a \$12 promo check.

Purchase 2 cases, receive a \$35 promo check.

Purchase 4 cases, receive a \$100 promo check.

Lexington Bourbon 86 Proof 750ml (19436): 6 pk case

Purchase 1 case, receive a \$12 promo check.

Purchase 2 cases, receive a \$35 promo check.

Purchase 4 cases, receive a \$100 promo check.

Twenty Grand Vodka infused Cognac (77577) & Twenty

Grand VAP w/100ml Rose (3981): 750ml, 6 pk case

Purchase 1 case, receive a \$12 promo check.

Purchase 2 cases, receive a \$35 promo check.

Purchase 4 cases, receive a \$100 promo check.

Prestige

Kinky 375ml & 750ml: Mix & Match, All flavors

Purchase 5 cases, receive a \$50 promo check.

Purchase 10 cases, receive a \$150 promo check.

Gemini

Ryan's Creams: Mix & Match, All sizes

Purchase 3 cases, receive a \$18 promo check.

Purchase 5 cases, receive a \$50 promo check.

Purchase 10 cases, receive a \$150 promo check.

Duggans

Forbidden Secret Mocha Cream (80143) 750ml: 6 pk case

Purchase 1 case, receive a \$6 promo check.

Purchase 2 cases, receive a \$24 promo check.

Purchase 4 cases, receive a \$72 promo check.

Jailers Tennessee Whiskey (26916) 750ml: 6 pk case

Purchase 1 case, receive a \$12 promo check.

Purchase 2 cases, receive a \$36 promo check.

Black Rock Spirits

Bakon Vodka 750ml: 6 pk case

Purchase 3 cases, receive a \$50 promo check. Send email to info@ blackrockspirits.com to receive Bakon Bloody Mary display material by mail when cases arrive.

Disaronno

Disaronno 375ml (64135):

Purchase 1 case, receive a \$20 promo check.

Edrington

Macallan 12YR:

Purchase 1 case, receive a \$80 promo check.

Limit 2 deals per month

Famous Grouse & Black Grouse:

Purchase 1 case, receive a \$50 promo check.

Highland Park 12YR:

Purchase 1 case, receive a \$50 promo check.

Wilson Daniels

Crystal Head Vodka 750ml:

Purchase 1 case, receive a \$40 promo check.

North American Spirits & Wine

Nick Grieder 3100 SE Grimes Blvd. Ste 100

Grimes, IA 50111 515-986-7241 office

515-986-0999 fax

Nickgrieder@southernwine.com

All purchases must be on one invoice dated March 2015. Invoice must be submitted within 45 days of invoice date to qualify for funds. In the event of out of stocks, multiple invoices will be honored. Please present a copy of the invoice to your NASWB Sales Representative or submit a fax to 515-986-0999.

Diageo Family Bonus Program: Mix & Match a combination of the following programs only: Smirnoff Family, Captain Morgan Family, Crown Royal Family, Ketel One Family, Bailey's Family, Bulleit Family, Don Julio Family & Johnnie Walker Family to receive these incremental funds in addition to the individual cash programs.

**Programs noted with a (*) are included in family program. Purchase 50 cases, receive an additional \$3 per case or \$150. Must include minimum of 3 programs.

Purchase 100 cases, receive an additional \$6 per case or \$600.

Must include minimum of 4 programs.

Purchase 150 cases, receive an additional \$9 per case or \$1350.

Must include minimum of 6 programs.

Purchase 200 cases, receive an additional \$12 per case or \$2400.

Must include minimum of 8 programs.

*Smirnoff Vodka Family 750ml & 1.75L: Mix & Match, Red

80pf, Confections, Sorbets, Fruit Flavors & Sours

Purchase 5 cases, receive \$9 per case = \$45.

Purchase 25 cases, receive \$18 per case = \$450.

Purchase 40 cases, receive \$24 per case = \$960.

*Captain Morgan Rum Family 750ml & 1.75L: Mix &

Match, Original Spiced, Lime Bite, White, White Flavors, 100pf,

Tattoo, Black Spiced, Private Stock & Silver

Purchase 5 cases, receive \$9 per case = \$45.

Purchase 25 cases, receive \$18 per case = \$450.

Purchase 40 cases, receive \$24 per case = \$960.

*Crown Royal Family 750ml & 1.75L: Mix & Match, Deluxe,

Regal Apple, Maple, Black, Sp. Reserve, 75th, XO & XR

Purchase 5 cases, receive \$12 per case = \$60.

Purchase 25 cases, receive \$20 per case = \$500.

Purchase 50 cases, receive \$30 per case = \$1500.

*Ketel One Family 750ml & 1.75L: Mix & Match, Base &

Citroen

Purchase 5 cases, receive \$9 per case = \$45.

Purchase 10 cases, receive \$15 per case = \$150.

Purchase 15 cases, receive \$27 per case = \$405.

*Bailey's Family 750ml & 1.75L: Mix & Match, Original,

Chocolate Cherry, Salted Caramel & Vanilla Cinnamon

Purchase 5 cases, receive \$12 per case = \$60.

Purchase 15 cases, receive \$24 per case = \$360.

*Bulleit Family 375ml & 750ml: Mix & Match, Bourbon, Rye & 10YR

Purchase 3 cases, receive \$20 per case = \$60.

Purchase 6 cases, receive \$30 per case = 180.

Purchase 10 cases, receive \$40 per case = \$400.

*Don Julio Family 750ml: Mix & Match, Blanco (87485),

Repo (89154), Anejo (89175), 70th (89200) & 1942 (89164)

Purchase 3 cases, receive \$30 per case = \$90.

Purchase 7 cases, receive \$45 per case = \$315.

Purchase 10 cases, receive \$60 per case = \$600.

*Johnnie Walker Family 750ml & 1.75L: Mix & Match, Red,

Black, Double Black, Gold Reserve, Platinum & Blue Label

Purchase 5 cases, receive \$50 per case = \$250.

Purchase 10 cases, receive \$75 per case = \$750.

*Captain Morgan White Flavors 750ml & 1.75L: Mix &

Match, Coconut, Pineapple & Grapefruit

Purchase 3 cases, receive \$18 per case = \$54.

Purchase 6 cases, receive \$24 per case = \$144.

Tanqueray Sterling Vodka 750ml (34856):

Purchase 5 cases, receive \$12 per case = \$60.

Purchase 10 cases, receive \$18 per case = \$180.

Seagram's 750ml & 1.75L: Mix & Match, Seagram's 7 Crown,

Seagram's 7 Flavors & Seagram's VO

Purchase 10 cases, receive \$5 per case = \$50.

Purchase 25 cases, receive \$8 per case = \$200.

Purchase 50 cases, receive \$10 per case = \$500.

Diageo 375ml Program: Mix & Match, Bulleit Bourbon

(17085), Bulleit Rye (27021), Crown Royal Regal Apple (10805), Crown Royal Black (10834), Johnnie Walker Red (5345), Tan-

crown Royal Black (10834), Johnnie Walker Red (5345), 1anqueray Gin (28865), Goldschlager (65065), Yukon Jack (67264),

Bailey's (68034) & Rumple Minze (69945)

Purchase 3 cases (36btls), receive a \$66 promo check. *Must include* 6 brands

Purchase 6 cases (72btls), receive a \$180 promo check. *Must include 8 brands*.

Hennessy VS 100ml (48102): 12btl sleeve, 8 sleeves per case

Purchase 3 sleeves, receive a \$24 promo check.

Purchase 1 case, receive a \$75 promo check.

Hennessy VS 750ml w/50ml Black (3403): Packed 6 per

Purchase 5 cases, receive \$12 per case = \$60.

Purchase 10 cases, receive \$18 per case = \$180.

Purchase 20 cases, receive \$24 per case = \$480.

Belvedere Pure Vodka 1.75L (34158):

Purchase 1 case, receive \$55.

Purchase 2 cases, receive \$75 per case = \$150.

Belvedere Mango Passion Fruit 750ml (33692):

Purchase 1 case, receive a \$24 promo check.

Belvedere Unfiltered 80pf 750ml (33971):

Purchase 1 case, receive a \$48 promo check.

Purchase 2 cases, receive \$60 per case = \$120.

Belvedere Pure 750ml (34155):

Purchase 3 cases, receive \$24 per case = \$72.

Purchase 6 cases, receive \$42 per case = \$252.

Hennessy Black 375ml (48154):

Purchase 1 case, receive a \$36 promo check.

Purchase 3 cases, receive \$60 per case = \$180.

Hennessy Black 750ml (48146):

Purchase 1 case, receive a \$45 promo check. Purchase 3 cases, receive \$90 per case = \$270.

Ardbeg Uigeadail (4111):

Purchase 1 case, receive a \$60 promo check.

Grand Marnier 750ml VAP (658): 6btl case, Comes packed

with 50ml of Raspberry Peach

Purchase 1 case, receive a \$24 promo check. Purchase 2 cases, receive \$30 per case = \$60.

Southern Wine & Spirits

3100 SE Grimes Blvd. Suite 100

Grimes, Iowa 50111 Phone: 515-986-7241 Fax: 515-619-6083

All accounts are eligible to purchase ONE of each of the following deals unless noted. All purchases MUST be made in the same week and invoices MUST be at our office by April 15th for March purchases for payment. Fax or send a copy of your invoice.

Beam Suntory

2 Gingers Irish Whiskey 750ml & VAP w/glass (6-pack):

2 VAPs = 1 case

Purchase 2 cases, receive a \$72 promo check. Purchase 5 cases, receive a \$240 promo check.

Baker's, Bookers, Basil Hayden, Jim Beam Single Bar-

rel & Makers 46: Mix & Match

Purchase 3 cases, receive a \$75 promo check. Purchase 5 cases, receive a \$150 promo check.

Beam 8 Star 1.75L: Mix & Match

Purchase 10 cases, receive a \$30 promo check.

Purchase 25 cases, receive a \$125 promo check.

Canadian Club 1.75L:

Purchase 5 cases, receive a \$30 promo check. Purchase 10 cases, receive a \$75 promo check.

Canadian Club 1L:

Purchase 5 cases, receive a \$20 promo check. Purchase 10 cases, receive a \$50 promo check.

Courvoisier VS 375ml:

Purchase 5 cases, receive a \$200 promo check.

Courvoisier VS 750ml:

Purchase 3 cases, receive a \$108 promo check.

Cruzan Rum 750ml: All types

Purchase 5 cases, receive a \$200 promo check.

Multiples allowed

<u>Dekuyper (no Triple Sec), Sauza Tequila, Cruzan Rum,</u> <u>& Kamora 1L:</u>

Purchase 25 cases, receive a \$75 promo check. Purchase 50 cases, receive a \$175 promo check.

Purchase 100 cases, receive a \$400 promo check.

Jim Beam Honey (27723) & Kentucky Fire (27724)

100ml (packed 48):

Purchase 2 cases, receive a \$25 promo check. Purchase 5 cases, receive a \$125 promo check. Jim Beam Honey, Kentucky Fire, & Maple 750ml: Mix &

Match

Purchase 3 cases, receive a \$150 promo check.

Purchase 5 cases, receive a \$300 promo check.

Jim Beam 50ml: Mix & Match, Maple, Honey, 2 Gingers, Kentucky Fire, Red Stag Cider, Devil's Cut & Pinnacle Mimosa

Purchase 1 case, receive a \$10 promo check.

Purchase 5 cases, receive a \$125 promo check. Minimum 4 types.

Jim Beam White 750ml & 1.75L, Jim Beam Black & Jim

Beam Devil's Cut:

Purchase 5 cases, receive a \$120 promo check. *Must include 3 different item numbers*.

Purchase 10 cases, receive a \$360 promo check. *Must include 3 different item numbers*.

Purchase 15 cases, receive a \$600 promo check. *Must include 3 different item numbers*.

Jim Beam White 1.75L only:

Purchase 5 cases, receive a \$50 promo check. Purchase 25 cases, receive a \$250 promo check.

Jim Beam 1L:

Purchase 5 cases, receive a \$30 promo check.

Jim Beam Bonded 750ml (16196):

Purchase 3 bottles, receive a \$9 promo check. Purchase 1 case, receive a \$36 promo check.

Kessler, Old Crow, Beam 8 Star & Windsor 1L: Mix &

Match

Purchase 10 cases, receive a \$25 promo check.

Knob Creek 750ml (19226) only:

Purchase 3 cases, receive a \$36 promo check.

Purchase 5 cases, receive a \$90 promo check.

Knob Creek 750ml: All types

Purchase 3 cases, receive a \$125 promo check. *Must include Maple, Rye or Single Barrel*.

Laphroaig 750ml:

Purchase 1 case, receive a \$48 promo check.

Maker's Mark 750ml & 1.75L:

Purchase 3 cases, receive \$24/case on 750ml, \$6/case on 1.75L.

Purchase 7 cases, receive \$30/case on 750ml, \$9/case on 1.75L.

Purchase 15 cases, receive \$36/case on 750ml, \$12/case on 1.75L.

Purchase 25 cases, receive \$42/case on 750ml, \$15/case on 1.75L.

Maker's Mark 1L:

Purchase 5 cases, receive a \$25 promo check.

Purchase 10 cases, receive a \$60 promo check.

Purchase 25 cases, receive a \$200 promo check.

Pinnacle Vodka & Gin: All types, 750ml & 1.75L

Purchase 5 cases, receive a \$90 promo check.

Purchase 15 cases, receive a \$360 promo check.

Purchase 25 cases, receive a \$750 promo check.

Purchase 50 cases, receive a \$1650 promo check.

Purchase 100 cases, receive a \$3600 promo check.

Multiples allowed

Kessler, Windsor Canadian, Ron Rico & Gilbey's Gin 1.75L:

Purchase 10 cases, receive a \$90 promo check. Must include 1 case of 3 different brands.

Purchase 25 cases, receive a \$300 promo check. Must include 1 case of 3 different brands.

Purchase 50 cases, receive a \$900 promo check. Must include 1 case of 3 different brands.

Red Stag Hardcore Cider 750ml (Apple Whiskey):

Purchase 3 cases, receive a \$108 promo check.

Sauza Hornitos: All types, 750ml

Purchase 2 cases, receive a \$48 promo check. Purchase 5 cases, receive a \$180 promo check.

Sauza Hornitos Limeshot & Black Barrel: Mix & Match

Purchase 12 bottles, receive a \$36 promo check.

Sauza Hornitos 1L:

Purchase 3 cases, receive a \$18 promo check. Purchase 5 cases, receive a \$45 promo check. Purchase 10 cases, receive a \$120 promo check.

Skinny Girl 1.75L Sweetarita & White Cranberry Cosmo

(6-packs):

Purchase 6 bottles, receive a \$12 promo check.

Kessler 750ml & 1.75L: Mix & Match

Purchase 25 cases, receive a \$150 promo check.

Windsor 750ml & 1.75L: Mix & Match

Purchase 25 cases, receive a \$150 promo check.

Campari America

SKYY Vodka & Infusions 1.75L & 750ml: Mix & Match

Purchase 3 cases, receive a \$72 promo check. Purchase 5 cases, receive a \$150 promo check. Purchase 10 cases, receive a \$360 promo check.

SKYY Vodka Infusions:

Purchase 6 bottles of Pacific Blueberry, receive a \$30 promo check. Purchase 6 bottles Texas Grapefruit, receive a \$30 promo check.

Wild Turkey 101 & 81 1.75 & 750ml:

Purchase 3 cases, receive a \$108 promo check.

Purchase 5 cases, receive a \$240 promo check. Purchase 10 cases, receive a \$480 promo check.

Wild Turkey American Honey 750ml: All types

Purchase 3 cases, receive a \$108 promo check.

Purchase 5 cases, receive a \$300 promo check.

Russell's Reserve 10YR & Rye (6-pack case):

Purchase 1 case, receive a \$18 promo check.

Forty Creek Barrel Select & Copper Pot 750ml:

Purchase 6 bottles, receive a \$18 promo check.

Purchase 1 case, receive a \$36 promo check.

Purchase 3 cases, receive a \$144 promo check.

Appleton Estate V/X 750ml:

Purchase 6 bottles, receive a \$30 promo check.

Carolans Irish Cream 750ml:

Purchase 3 cases, receive a \$72 promo check.

Purchase 5 cases, receive a \$180 promo check.

Purchase 10 cases, receive a \$480 promo check.

Luxco

Lady Bligh 1L & 1.75L:

Purchase 5 cases, receive a \$30 promo check. Must include 1 case of Coconut.

Purchase 10 cases, receive a \$90 promo check. Must include 2 cases of Coconut.

Purchase 20 cases, receive a \$300 promo check. Must include 3 cases of Coconut.

Lord Calvert 750ml, St. Brendan's 750ml & 1L, & Café

Lolita 750ml: Mix & Match

Purchase 5 cases, receive a \$30 promo check. Purchase 10 cases, receive a \$120 promo check.

Pernod Ricard

Absolut 80, 100, Flavors 750ml & 1.75L:

Purchase 10 cases, receive a \$100 promo check. Purchase 25 cases, receive a \$750 promo check.

Purchase 50 cases, receive a \$1750 promo check.

Chivas 12YR 750ml & 1.75L & 18YR:

Purchase 3 cases, receive a \$175 promo check.

Purchase 5 cases, receive a \$325 promo check.

Purchase 10 cases, receive a \$700 promo check.

Glenlivet High Marques:

Purchase 4 bottles of Glenlivet 15YR, 4 bottles of Glenlivet Nadurra Oloroso & 4 bottles of Glenlivet 18YR, receive a \$200 promo check

One deal per licensee

Greenspot 750ml:

Purchase 1 case, receive a \$25 promo check.

One deal per licensee

Jameson Irish Whiskey 750ml & 1.75L & Jameson

Black Barrel 750ml:

Purchase 3 cases, receive a \$75 promo check.

Purchase 5 cases, receive a \$150 promo check.

Purchase 10 cases, receive a \$350 promo check.

Purchase 25 cases, receive a \$1000 promo check.

Jameson Irish Whiskey 1L:

Purchase 10 cases, receive a \$50 promo check.

Purchase 20 cases, receive a \$200 promo check.

Powers Irish Whiskey 1L:

Purchase 1 case, receivea \$25 promo check.

One deal per licensee

JP Wiser's Rye (11452) & Spiced Vanilla (11472) 750ml:

Purchase 1 case of each, receive a \$50 promo check.

One deal per licensee

Malibu 750ml & 1.75L: All flavors

Purchase 5 cases, receive a \$100 promo check.

Purchase 10 cases, receive a \$250 promo check.

Purchase 25 cases, receive a \$750 promo check.

Malibu Coconut 1L:

Purchase 10 cases, receive a \$50 promo check.

Purchase 20 cases, receive a \$200 promo check.

Paddy's Original, Bee Sting & Devil's Apple 750ml:

Purchase 3 cases, receive a \$100 promo check.

Plymouth Gin 750ml:

Purchase 1 case, receive a \$25 promo check.

One deal per licensee

Redbreast 12YR 750ml:

Purchase 1 case, receive a \$25 promo check.

One deal per licensee

Michael Godard

Michael Godard Vodka:

Purchase 3 bottles, receive a \$20 promo check.

Aveniu Brands

Sweet Lucy (86746):

Purchase 3 bottles, receive a \$6 promo check. Purchase 1 case, receive a \$15 promo check.

Savvy Distillers

Deep Eddy 750ml:

Purchase 6 bottles, receive a \$9 promo check. Purchase 2 cases, receive a \$36 promo check. Purchase 4 cases receive a \$100 promo check.

Stoli

Stoli Premium: 1.75L, 50ml mini pack, Vanil 750ml & Cranberi 750ml only

Purchase 5 cases, receive a \$75 promo check.

cases each of Vanil, Ohranj & Razberi 1L.

Purchase 10 cases, receive a \$300 promo check.

*For every case of 50ml mini pack, Stoli Cranberi or Vanil ordered, receive an additional \$10 on those cases only.

Stoli Premium & Flavors 1L:

Purchase 10 cases, receive a \$50 promo check. Purchase 25 cases, receive a \$500 promo check. Purchase 50 cases, receive a \$1500 promo check. *Must include 2*